DELHI METRO RAIL CORPORATION LTD.
(Metro Bhawan, Fire Brigade Lane, Barakhamba Road, Delhi-110001)

[Roll No. 19RNE1610148830

Participant Name |DEEPAK KUMAR CHAUHAN

Test Center Name |[Utkarsh Srivastava Public School - Lucknow
Test Date 19/02/2020

Test Time 9:00 AM-10:30 AM

Subject [Maintainer Electrician RNE16

O Fuoh A FerMw AR A, owdega w1 39 B A
. R (porous)

X 2 HgEA (composite)

v & BATET (homogeneous)

X 4 gEAIERITYS (hygroscopic)

Question ID : 1499861381
Status : Answered
Chosen Option : 4

Q2 Famges ¥t (storage battery) & & _ % TaT F =¥ AT L
M 1 sEF TERT WEIT [T S Heer aTer TR o
X2 38 & Far Fr TEm
X 3. gges 39T & FHEIE
X« gEs JETer R F FE

Question ID : 1499861358
Status : Answered
Chosen Option : 1

@ Watermarkly



Q3 |E fraw 1956 % AR, Toiw RegeRd wew T sETRT & @9 wE e f aef & B ame
7T 500 V  Seds W, Aeaw N e dedT A seene a1 Regdaive vl wE ¥ &
gl

Ans X115 MQ
v'2 1 MQ
<33 MQ
X 410 MQ

Question ID : 1499861406
Status : Answered
Chosen Option : 4

Q.4 F=r fear mar e TR FE T $ AT F v g 32 &ew smas #, Vs aees & st
la AT Iy T 3T gEw TEREE F vaRa awnad & defia wa §

e FRffeT e AT
X 2 FfaAade AT
X o gegeren (ffwiaw) AT
<4 T e e A

Question ID : 1499861339
Status : Answered
Chosen Option: 1

g #r sTEaT F & fAfése B smar ¥
Ans XK1 KW

< 2 kWh

v 3 kVA

< 4 kVAr

Question ID : 1499861343
Status : Answered
Chosen Option : 1




Q.6 uF 3-%= TmTEaE 1000 rpm Fr T T FERT g o¥ wia % 2000 V SEde 3o9eT HaT §1 38T
&7 3cde & FY, TR TW 2000 rpm T Feifed RO S ¥, O 9T % 3c0e aeed faaer geme

Ans

#< 11000 V
v 24000 V
X 33000 V
X 42000 V

Question ID : 1499861364
Status : Answered
Chosen Option : 2

Q.7 5A Fr FET U O T FET DC 0T AT 10 N-m F1 FoNE0T e T g1 I o o =
TgET 10 A & g = ¢, s A e & At 1w dees o F guem & o 5w T A

Ans

3o B aTe SETEUT AT A gl
<110 N-m
2 2 5 N-m
V2 40 N-m
X< 4 20 N-m

_—

Question ID : 1499861348
Status : Answered
Chosen Option : 4

=

Q.8 & gyat A e gewwel AET 400 V, 50 Hz & Hmfd gaw Femfes ¥ TF 0.8 & seemsr afdd qures

Ans

9T 100 A T S URT SR &1 G B AT AT g, FIEI GART Sededt ey A St

x 1. 960v2

T
960

N2

v 96043

T

X4ﬂ

Question ID : 1499861394
Status : Answered
Chosen Option : 4




Q.9

TF 100 W, 100 V o7 & 200 V #r DC ss & H=rferd R =i=r 21 3fg 965 (760) 9rd 1 &
B, 4ufr w5 & FESE v oW 3 e ik fraer e

Ans - X110 Q

<2 500 0

#< 31000 0

v 4100 0

Question ID : 1499861378
Status : Answered
Chosen Option : 4

Q.10

Ans

frfafea & & Fia @ T 7 7o |WEE =1 2
X1 FE

X 2 @&Tw. (CTS)

X 3 g ofres

v . FHeE FIE

Question ID : 1499861402
Status : Answered
Chosen Option: 3

Q.11
Ans

S gAT S EMF & o 1 wr Befefan # § e R s
X 1. FrEfEeT & T T F@E

X 2 FHT (phases) Fr FET

v o gEt B FE

X 4 TACH ISR F ORI . HEAT

Question ID : 1499861363
Status : Answered
Chosen Option: 3

Q.12

Ans

YF U gUS T gl TEHT 39AET ThEe forw faRar S 87
V1. HBEER 39T F fIT #g (broom) F w7 A
X 2 FEIHT FT A F TFES & o

X3 g iR ae #r Faa 5 BT
X 4 dr I59TH ¥ #ET S0 T g & fow

Question ID : 1499861375
Status : Answered




Q.13

R & e 717 I9=ET G F4T ST AT 87

A" X 18X (fence) & FSAT T TR A

v 2 TS & Y (fence) & T E

X 3 fase & 9 (fence) T IS WaRT el

X 4 f&se & 9Y (fence) & TII FT

Question ID : 1499861366
Status : Answered
Chosen Option : 2

Y e I F v @ AT S Fer B
Ans

X . 7Og aR % ;Y Ao FH H
X 2 FOgA AT HTHRA & T
v % aR & Ty Suft FE A
X4 e AR 7gg & A=

Question ID : 1499861403
Status : Answered
Chosen Option : 3




WP frw e Ry F AT F ¥ FiF @ 3vs o e

s X1 X (File)
X2 el
v 3 = (Wrench)
X 4 T

Question ID : 1499861374
Status : Answered
Chosen Option: 3

Q16 ¥ ofiRir T O S9EE § IREST F O 3o REfEg aar
A K. FrEe et e

X 2 e frem oeeT

v auffiEeT

X 4 e fhem doEeT

Question ID : 1499861390
Status : Answered
Chosen Option : 3

Q.17 R arw ofyge &, fEwe #1 U AT (ON) #1e & [T HEeTs ~g-08 98 9’ g Hifsw)

1kQ

20kQ

o p=60 I 12v

Ans X112 mA
X2 0.6 mA
X312 mA
v+ 0.2 mA

Question ID : 1499861396
Status : Answered
Chosen Option : 3

@ Watermarkly



18 r AT FsE F AR FfERN e #r drar F 2 7

Ans X150 - 300 QO
V2. 500 - 3000 Q
X35-300
X 4 5000 - 15000 O

Question ID : 1499861370
Status : Answered
Chosen Option : 3

Q.19 =BT # & 8 =T THR F AGGT & 3949 DC F AT F [&T FE Far =7 wear §72
Ane o goT

X 2 gie IR

X 3. 7ot &g (Moving iron)

X 4
TIE I9% T F=A7 (Permanent magnet moving coil)
- ] L

Question ID : 1499861353
Status : Not Answered
Chosen Option : --

Q.20 Fredw F faar B vrcAEET Y anr wfe 400 ¥ o efvTe 0.01 F HOUTAF PISve & T, SHAT
ST Uy wed el

Ans of 1. 80
#2400
#3100
X 4 40

Question ID : 1499861401
Status : Answered
Chosen Option : 4

Q.21 v= s Few &, 7% aver Regeeiem 2 99 fFegsius (srgeem) F T 9T arer fegaeiear
4 3ot gEy Regaies aE werwiee far e §, & e & afar [

e X1 e @Y S
X 2 TR T g S §
v o @ T @ ST 8
X4 oFAe & e g

Question ID : 1499861383
Status : Answered
Chosen Option : 1




s 200Q
g YWviopF
R

o~

Ans - X 1.1 mA
v'2 100 mA
X3 AT

<410 mA

Q.22 pC amfd w R & FET Ry v oy & 3@ 4R (charging current) FT AT gremi

Question ID : 1499861392
Status : Answered
Chosen Option : 2

Ans  of 1. 240 A
X260 A
<3120 A
X 4 480 A

Q.23 2 DC @it & ¥ gede F1 Geratia (open circuit) deesr 24 V iy siafe afewy 02 o §1 3% 2=
HiT FAH FH # I ge &, o FgIU U (short circuit current) & AT AT Hifee

Question ID : 1499861388
Status : Answered
Chosen Option: 3

Ans X1 FHTA
~ 2 t'-'l’l?l'ﬂ?ﬁ
X 3 ar e
v 4 3TN

Q24 3nfEgr veedeER @ d=fsy #r g@r 20 He ® & g gl
Ans X 1. 2 kHz

v'2 20 kHz

#3200 kHz

/< 4100 Hz

Question ID : 1499861400
Status : Answered
Chosen Option : 4

Q25 = o vfEE A E UACHE T F SSE, KUTCHAS Toet Y JoeT # e _ @

Question ID : 1499861360
Status : Answered
Chosen Option: 1

W Watermar

kly



Q.26

3-%5 Jeddell Fel GANT 3ce Bal dAleed A 8T T F
ep = 20020°

ey = 2004 —120°

ez = 200.120°

5u fiTeH &1 % 3gFHA T 87

Ans X 1. RBY
X< 2 RB
X 3 RY
v+ RYB

Question ID : 1499861357
Status : Answered
Chosen Option : 4

Q27 Grafaf@a & ¥ e wwe-thet T At & e wRerer ufFd ques s9a g 87
Mo e wE Refter @ AT

<2 T fEoee e Al

X 3. FTHET TWIE I I AT

X 4 TIfgd ¢ AT (Shaded pole ‘motor)

Question ID : 1499861362
Status : Answered
Chosen Option: 3

Q28 Rrarafimr F Vo s T d & T A TTa A H AT 10 J ¥ tH TFs § 3 0 I
i § 309wt FEAT gl

2Q 30
x ¥
Ans X 1.2 J
X24]
V12
X484

Question ID : 1499861379
Status : Answered
Chosen Option : 1

@ Watermarkly



Q.29 T agwaEEl & A AT # @ e yer # DC At & wETewar g g, See e 3=

FaT HTEOT (starting torque) T HTERIERAT 2 £7

Ans o1 ol AreT
X 2 BRI FaEE AT
X 3 9T JAtex
< 4 T HUT3SE A

Question ID : 1499861349
Status : Answered
Chosen Option : 2

Q.30 5 o wferiy sk 8 Q SR wfdaTd e RL 9ftgyr & 200 V 7 AC diees o917 7141 &1 9i9e gamn

& 7 oy i wfouEr o e ;. #
Ans 1. 3200 W, 2400 VAr

« 2 4000 W, 4000 VAr
« 3 2400 W, 3200 VAr
< 4 2400 W, 2400 VAr

e

Question ID : 1499861356
Status : Not Answered
Chosen Option : --

Q31 fw aw LC afmy & 50 Hz &7 Al FAfea &1 7 ¥1 A A ged g

100mH
v. 10pF

A of 1. B0 Hz
X 2.106/2r Hz
#3100 Hz
X 4.106/m Hz

Question ID : 1499861397
Status : Answered
Chosen Option : 2




Q.32 v qut aier AR fFresd 200 sin(et) FAC 3 F F37 ¥ AR 10 o F ol aw F sl
Yer Y TET 21 FRE A e A gu. faseady fr gavr e A

Ans X 1.91%
v 2 81%
X 3 75%
X 4 98%

Question ID : 1499861345
Status : Not Answered
Chosen Option : --

233 fr v oy F, 5 0 IR & fHiaet F f7 AT a2

30 50
20 T OV =80
as X110V
X275V
K315V
vi5V

Question ID : 1499861387
Status : Answered
Chosen Option : 4

Q.34 T=fefEa & @ B tvs oo &1 399 9T @1 U5 S A S s 9, ant B aise 3T we
3T =5 it & e G o e 22

Ans X‘IW
X2 5
W 3 TraT

X ¢ THFER (o)

Question ID : 1499861373
Status : Answered
Chosen Option: 2




Q.35 a7 aEfEr, B & = Becadt @=! (adjacent slots) # g o1 & & #ow 4vh &7 #F Fofew
Faferat (coils) & faafya fmar Sar &, 3% w7 ww ST §7

Ans X1 af3re Rrer SR (Fractional pitch winding)
X 2. 9rer SrSfEr (Pole winding)
v 5. faafra asfEer (Distributed winding)
X 4 qoT Rr=r arsfEer (Full Pitch winding)

Question ID : 1499861347
Status : Answered
Chosen Option : 3

% R v oftay F wier § ToTE Faar geme?
10Q 10Q

Ans o110 A

X275A

<3135 A

<485 A

Question ID : 1499861386
Status : Answered
Chosen Option : 1

Q.37 o gereds # A & R & et H, fr o # ofta EMF &1 aara 2 3

X o Res gl Gk aRfe e
X 2 oo R=s aEfE Ak o R=s aEfE

X 3 qe RS aEfEe v gFfeg aEfE
v o ame RreE SR R oo fes anfEe

Question ID : 1499861342
Status : Not Answered
Chosen Option : --

@ Watermarkly



Q.38 s & fere-that e 39T FT dieeT WA AR H @A F HANF @ B
Ans  X1.100 - 120 V

X2 400 - 440 V

V3220 -250V

X 4150 - 175 V

Question ID : 1499861407
Status : Answered
Chosen Option : 3
Q.39 gy sfEwa PN S s &, T SR ¥ qarled ORI # A =R 92 J6T g
A o e dees
X 2 T dees
<307V
X412V
Question ID : 1499861410
Status : Answered
Chosen Option : 3

Q40 v DC Se¥ex &, argedor @ifr (windage loss) fowh WaTaTT g §7

A o e @ e & et
X 2. UoldH "Hacd

K3 i atees
K 4 3fS omT * T

Question ID : 1499861350
Status : Answered
Chosen Option : 2

O Fawt & oftyr (Sheaths) & 39aer ¥ 3w fRom wmam E
s X1 IR HFR T
v Faa H FH F 99T F UFT
X 3 30g A A

X 4 ToCga TFahIT STTAHIOT T Uehel

Question ID : 1499861384
Status : Answered
Chosen Option : 2

@ Watermarkly



Q42 v ST WHREA 16%x107° CRa i o oy T aw 16 A S TF as F omr O
TaTRT SorFeler T TEAT fhaer g

Ans X 110710
< 2 256%10%°
V'3 101°

1pl®
2.56

X 4

Question ID : 1499861376
Status : Answered
Chosen Option : 4

Q.43 enfrde freex goa UF 319 @ Rveardr afvwer 200 V, 50 Hz AC afd & o7 31 wuifs & zfiaen
& 9T HEEE Feil A gl

Ans X 1. Qlﬂ'

200

?<-Z :ﬁ;
<3200V
v 4 20012

Question ID : 1499861344
Status : Answered
Chosen Option : 3

Q.44 v oo T FeenteT # AR 10 o § 3R S 100 mAET ui SfeE @ 9T 9E qon-SEner
T (T Frer e YaT T §1 59 #HeT #1100 V% Ang & B seedet F w7 A
YR R T § AT wier gl

X1 #eT & T AT FH 799 Q
<2 F#eT F T TER F5 #7990 Q
X 3 e & Ty ot #3099 o
v 4 e % Ty 8o FA F 990 Q

Ans

Question ID : 1499861352
Status : Not Answered
Chosen Option : --




Q45w IeEr SCR # BRIS salifeheT sawrur F F& AT I TEaT &2
At 1 TATE uRT Y AR O ® FF 15

X 2 TAE OaRT # AR 4 ¥ FH FIF

X 3 3T URT F TR LA Fh

X 4 AT U F ISHIAT (reverse) FH

Question ID : 1499861398
Status : Answered
Chosen Option : 4

Q.46 amee i oo ¥ Fu-afioedl @il & BT Tged I & woE T FIET FE F ST R g
s

v 15 mm?
<205 mm?
<3 15 mm?
<4 5 mm?

Ans

Question ID : 1499861405
Status : Answered
Chosen Option : 1

Q.47 v 3% YT HET F Fgfed 3 SEAT F Arews ¥ wEIRd AT 3-5e FefE Rege aw
AN 39 &89 FetefaT § ¥ 9 R & g 7

e o TR afEoT & wry we # Hoehe
X 2 oftadt s F @y yEia H vearEdr
X 5 aiEdl IRATT & WY W A o
X« TR 3mas & Wy Seid A Searadt

Question ID : 1499861336
Status : Answered
Chosen Option : 2




Q.48 afy fagga st & w3fd iy ofywer =t & T suE e T fEgy o & A
F HOF & AT §, O JETRS-a TRTY JUF (WS- WS STIOH), THTY F
T &Y & B
Ans  of 1.5 mA
<201 mA
<3 1A

K45 A

Question ID : 1499861367
Status : Answered
Chosen Option : 2

Q.49 ws 50 Hz, g-ya ST Hiex 07 97X X 5% H TerT & amr Fuilea @ §1 sh geeen afd
. H

Ans 1. 3000 rpm
< 2. 1000 rpm
/< 3. 1500 rpm
< 4 2000 rpm

Question ID : 1499861340
Status : Answered
Chosen Option: 1

Q.50 5V EMF 3t 0.1 0 safe sfedta amer v 3l 39 1 Q & 867 Sy & 7 g 5 §HA
FYIYA G Thaer g

Ans 1. 50 A
X25A
X301A
X 4 3ag

Question ID : 1499861359
Status : Answered
Chosen Option : 3

Q.51 us AC wfiwer 200 V, 50 Hz TF.&71000 W #r afra ofFT st 1000 VAr 1 afferdr afeT @ &
Hig ¥ o 1 RMS urr gl

Ans JT 5@ A
X25A

- 5
x3. \."_EA
X410 A

Question ID : 1499861377
Status : Answered
Chosen Option : 1




Q.52 faggrm 7=t # 77 §fad = & T 9ge 0T (enclosure) F T e R e #, RF wer
T § $HF RegaAg At & 9 # F A

M X1 i
X 2 arsfe
V3. afdr
X 4 e

Question ID : 1499861369
Status : Not Answered
Chosen Option : --

¥ faegeedr et F oew F @ FF T AT A @ =iee?

Ans

V' 3T Fer argeiwur
X 2 T Taegarierar
< 3 F==r Oty @Ay
X 4 AT saereierar

Question ID : 1499861380
Status : Answered
Chosen Option : 3

¥ Jaemeferar # g -y

Ans o 1 Him
< 2. Wh/m
< 3. Hm

<4 Wh/m?2

Question ID : 1499861351
Status : Answered
Chosen Option : 4




Q55 R & ¥ FiF @ Regdw gie # % Te A T @R I a8

Ans X1_
frdreror a1 FTERa & Tee Rgge 3uwOl # S-vASES S

X 2 el & 39Reon Fr 3T Sgarer e
X 3
TASIEsE Al & 90 F1T Fla THT TEuTar s30T

& 39gFT FRETTeHS SIS0 & ITAIET HT 3UET FHLer

Question.ID : 1499861368
Status : Answered
Chosen Option : 4

Q.56 w= == FEAr AR vH A wiE TR F e soh A F 9T € o v T ol s e
(half wave diode rectifier) % 3M3eqe & FaAfST §1 7w dig WER % HAeT & TeAF 5 A §) T FEer
(Fizer) HET FT TSAF FT FR?

as K15 A
X2 159 A
V5 3.18 A
X4 636 A

Question ID : 1499861393
Status : Not Answered
Chosen Option : --

Q.57 e o g5 Ay # R oF @@ | B @9 1 swE 9w @ et o foer gam g
=igT

Ans o 1. B
K2
<3 =Y
K4 ATS

Question ID : 1499861337
Status : Answered
Chosen Option : 1




Q.58 o vwA defar fowe & godw 1 EMF 12 V 3R siiafe e 1 o 8, SR wn A g g €
3 0 F ve gfeArd aw R A oe wEr | ofy e defw F @ e v F 3R see
g St § 3R 3w IRy ¥ e R e g, o | # o # o afen, e wA F 9 e
Fefalt gamr s & of o F & TET FE B
Ans o1 91%
< 2 33%
< 3 56%
< 4 67%
Question ID : 1499861361
Status : Not Answered
Chosen Option : --
% Ryega Bt 39 F genr S F cTeA HEe HROT A ER
Ans =
K. U F EHT gAT
X 2 uI % TEEEE THE
X3 YT & FEHT 9T
v 4 3 ar AT F TR
Question ID : 1499861382
Status : Answered
Chosen Option : 3
Q.60 = FftF Tuw (lightening arrestor) & TasT #, # I I3T (arcing grounds) T TT FF
TR B
Ans

v 1. U AT-HEART JUME (ungrounded system)

X 2 TH B H{HUhd FuTell (solid grounded system)

X3
T faal*ig 3erdia Jumar (isolated neutral system)

F

3= Wi o ${HYThd WUTel! (system grounded with large impedance)

Question ID : 1499861409

Status : Answered

Chosen Option : 4




01 oyey aIRT &, EURAT AR W NER ¥ HF a8 e =
Ans X118 SWG

v 2 14 SWG

< 3 24 SWG

<4 8 SWG

Question ID : 1499861404
Status : Answered
Chosen Option : 2

%2 N ¥=& FET, 9 a=g & P ¥« FET & 38T &7
M K1 3= g Sfaerer # a9 @
X 2 FoAeh 3= TEATET GHT @ 398 §

Xegar R aamafrasg @

v
Tl (holes) #r Foa # Sorgial HT 3o afaelier #1 5o &

Question ID : 1499861399
Status : Not Answered
Chosen Option : --

Q.63 oot s o 1500 rpm #r 7fY W F=fEE T 200 V DC Ao EET 400A #r amT B ¥ swe iRy
0.1  § 3R &9 3Wgd &1 7% Z@N T (starting) & THA 15 F@UUT SO AT A= AR B
MFees gfarr & soEr i

Ans - X' 1.6.4 0
X2210Q
V3490
<4120

Question ID : 1499861395
Status : Not Answered
Chosen Option : --

_—

Q64 Rpafaf@d & ¥ e AT # #1TS Hf@emwior (speed characteristics) R =@t gl &2
M giEEde Je

<2 M A

<3 DC efE Al

<4 gfasgs AT

Question ID : 1499861346
Status : Answered
Option: 1




48 CrafafaT & ¥ #i7 o fege 999 Wor F REE | R P
ans X1 LED

< 2 CFL o9

X3 &g i

v i TTEHAT

Question ID : 1499861391
Status : Answered
Chosen Option : 4

Q66 v RLC v o & afy | & anr 3T St ¥ AT Fer # gl
e K. e gfaema, e gfaea @ sfee ar

X 2 §Trr widera erftdr gfaore @ w9 8

v 5 9T gfere eI SRETE ¥ aeT @

X 4
s wfaoa 3R e sfaoe & 3, iRy & auet &

Question ID : 1499861354
Status : Answered
Chosen Option : 4

e mreefer 3R fe e F ¥ e w By 2
Ans X g

X2 Brper

X 3 s

v o Fitg I FOT s

Question ID : 1499861385
Status : Answered
Chosen Option : 4

Q.68 ‘ﬁﬁwmw#mﬁﬁmﬁqﬁﬁ,mmﬁﬁﬁm%#ﬁﬁmmﬁ%
=T i AFINT § T oo gl § 3N 38 9 Wid F I g § T gl 5§ WS anr
Fr AT BT T e g £

ans X111 -2 mA
X24-24
<3 90 - 150 mA

v 410 - 40 mA

Question ID : 1499861371
Status : Answered
Option: 4




Q69 st e a1 et & waie e oey SO & RN STERT AT H HHR T e dr 12
v safeE T

X 2 Ffrer Al

X5 st

K 4 g faemg wele

Question ID : 1499861408
Status : Answered
Chosen Option: 1

Q.70 1 mm & AT FES A TH GEHH TRAY F T el GEPT a6 F A 400 AT/m §1 T 309
w4 % AT 40 W ae FEet & @ AR g ATe O T A A A

Ans  X1.100 mA
X210 A
X31A
v 4 10 mA

Question ID : 1499861389
Status : Answered
Chosen Option : 4

=

Q71 o fNuew Newia RW A 7 4 o7 § 99 4@ & g @) & e 10 &1 iy Jw F 80 g
(@) § @ BT P 7 B

Ans X1 9°
X275
v 45
<a 3

Question ID : 1499861341
Status : Answered
Chosen Option: 3

72 NMirewr AT F wEy ¥ Rl § ¥ FiF @ FuF 7h 22
e X og ve ofedt afy @Rvee v A ¥

v g FE-yatad (FewEere) 7

X 3 ¥g TE-vafdd (Wew-Terfee) el §

X 4 g0 DC Jed=ied &7 G THaT giar ¢

Question ID : 1499861365
Status : Answered
Chosen Option: 2

@ Watermarkly



Q.73 == a7 forelt $10T HieT W wF DOL (SEeE-HI=-5T9=) FETET 1 3TITT T UF ¥ §, & T

T (starting current) SITSTT & sqET grefn

Ans

X 9OT T aRT F 10%

X 2

v

X 4

Question ID : 1499861338
Status : Answered
Chosen Option : 4

Q.74
Ans X 1.

x 2- O

. @)

~oa

y
Question ID : 1499861355
Status : Answered
Chosen Option: 3

Q.75 ¢
Ans X 1.

i \K
o Question ID : 1499861372

¢ Status : Answered

2\ Chosen Option : 4
Section : General Awareness

Q.1 Silh eifges & wATenes AR-ahUr Soft RERR 2019 e sfar?
Ans X 1. feTer SIRETR

< 2. R \

X 3. Sgsh Memh 7ga @

o 4 R

Question ID : 1499861422
Status : Not Answered
Chosen Option : --

@ Watermarkly



Q.2 wieh-gRfeT gusid W gw1eR &d fhu 1w 32
Ans  of 1 577, 1931

/X 21071932

75 3.75,1929
/X 4.6 30, 1930

Question ID : 1499861413
Status : Not Answered
Chosen Option : --

Q.3 JTETE

ST &1
Ans X 1. mERE
75 2. uffm sme
o 3. sifean
4. eRarm

o Uk a1ftfer waer 39 g, O diaw & 90 arae &1 @ A & forg g=man

Question ID : 1499861419
Status : Answered
Chosen Option : 2

Q.4 wisH ifeg= Afafad 100 e & ugen ™ fra= gifde foran?

Ans X" 1. ariferar wrg
o 2. R e
75 3. 3em AR

75 4 gemE e

Question ID : 1499861421
Status : Answered
Chosen Option : 2
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Ans X1 w8
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Question ID : 1499861416
Status : Answered
Chosen Option: 1
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Question ID : 1499861414
Status : Answered
Chosen Option : 2
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\f 4. 2Tg STt C
o Question ID : 1499861412
K Status : Answered
Chosen Option : 3
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Question ID : 1499861415
Status : Answered
Chosen Option : 1
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Question ID : 1499861417
Status : Answered
Chosen Option : 3
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Question ID : 1499861418
Status : Answered
Chosen Option : 4
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Ans X 1 arpeR

X 2. R

X 5 ongd Q,O
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o Question ID : 1499861411
K Status : Answered

Chosen Option : 3
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X 2.3 O\

25 3. urftrer K
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@ Question ID : 1499861420
Status : Answered
& Chosen Option : 1

Section : Quantitative Aptitude \:
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Question ID : 1499861424
Status : Not Answered
Chosen Option : --
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Question ID : 1499861432
Status : Not Answered
Chosen Option : --
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Question ID : 1499861426
& L4 Status : Answered
Chosen Option : 3
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(D Question ID : 1499861430
Status : Answered
Chosen Option : 2
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Question ID : 1499861434
Status : Answered
Chosen Option : 4
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Question ID : 1499861427
Status : Not Answered
Chosen Option : --

Q.7
Ans
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Question ID : 1499861423
K L4 Status : Answered

Q.8
Ans

Chosen Option : 1

Chosen Option : --
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Ans

(D Question ID : 1499861428
o Status : Not Answered

Question ID : 1499861429
Status : Not Answered
Chosen Option : --
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Ans XL

Question ID : 1499861433
Status : Not Answered
Chosen Option : --

Q.11

Ans X 1.
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Question ID : 1499861431
K L4 Status : Answered
Chosen Option : 4

Q.12 q
Ans X 1. e

Question ID : 1499861425
Status : Answered
Chosen Option : 4

Section : General Intelligence and Reasoning S
Q.1 ua fAffa wle o 7, '+ 'x' &1 ufafafda ="'+ ' o1 gfafaf e aRar &) - ' 1

ufafafdra &=ar &' ok 'x' - & ufafafda H TSI R I<R AT el
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mxe s O
X 315 @
f 448

Question ID : 1499861441
Status : Answered
Chosen Option : 4
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Question ID : 1499861435
Status : Not Answered
Chosen Option : --
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Question ID : 1499861439
Status : Not Answered
Chosen Option : --
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Question ID : 1499861446
Status : Not Answered
Chosen Option : --
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Question ID : 1499861440
Status : Answered
Chosen Option : 4
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Question ID : 1499861438
Status : Answered
Chosen Option : 3
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Ans X1 1513612
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Question ID : 1499861442
Status : Answered
Chosen Option : 4

Q.8 39 fderey o1 T T Sl AR Uz & St v & Haifda @ 9 uhR € @R uE ugEe ue |
Hafda 81
&RT: S :: g : ?
Ans X 1 Gem
X 2. @
/X 3. it

o 4 F

Question ID : 1499861437
Status : Answered
Chosen Option : 4

Q.9 vk fAfYa st wmur 7 afg 573 a1 aref & vase is pretty, 432 T 31 & pretty and expensive, 14
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Question ID : 1499861443
Status : Answered
Chosen Option : 2
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Q.10 Ueh 3t 4 km S<R Y 341R ST & 3R R gef &Y 3R ggar & 8iR 3 km deh Tera &1 yRMS
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Ans X" 1 9km
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Question ID : 1499861444
Status : Answered
Chosen Option : 2

Q.11 39 faeheq =1 7= o3 Sit I TR R Aot T @ e @ S gudt S uge! Se @
Teifdd g1
14:210::16:?

Ans o 1 972

#< 2.288
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Question ID : 1499861436
Status : Answered
Chosen Option: 3

Q.12 fF=fafEe wwEn sigen § o S a1 11
576,288,96, _____, 16
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K 2.32
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Question ID : 1499861445
Status : Answered
Chosen Option: 2

Section : General English

Q.1 Which of the following words given in the options can be changed to rectify the given
erroneous sentence.
All aquatic mammals has to come to the surface to breathe.

Ans x 1.cometo

J 2. has to
5 3.l

x 4. breathe

Question ID : 1499861455
Status : Not Answered
Chosen Option : --
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Q.2 Select the word that is opposite in meaning (ANTONYM) to the word given below.

Soggy
Ans 5 1. muggy

x 2. mushy
X 3. humid
“ 4.dry

Question ID : 1499861453
Status : Answered
Chosen Option : 1

_

Q.3 Select the idiom that can best subsitute the bracketed word in the sentence given below.

Jonny is very sick and (close to death) as per doctor.
Ans X" 1 is as pale as a ghost

x 2. dead ringer
x 3.in the dark

( 4. has one foot in the grave

Question ID : 1499861454
Status : Answered
Chosen Option : 2

Q.4 Identify the part of speech of the bracketed word. You can carry these things in your (hand)
luggage.

Ans X" 1 verb

x 2. noun
x 3. adverb

( 4. adjective

Question ID : 1499861449
Status : Answered
Chosen Option : 2

Q.5 Choose the correct form of passive voice for the following- They will not accept your credit
card.

Ans “ 1. Your credit card will not b&yaccépted by them.
x 2. Your credit card would not bé accepted by them.
x 3. Your credit card will not have been accepted by them.

x 4. Your credit card has not been accepted by them.

Question ID : 1499861451
Status : Answered
Chosen Option : 2
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Q.6 Fill in the blank with an appropriate preposition.
Her house is two hills and a lake.

Ans x 1. over

x 2. after
x 3. among
J 4. between

Question ID : 1499861448
Status : Answered
Chosen Option : 2

Q.7 Select the word that is closest in meaning (SYNONYM) to the word given below. Extol
Ans X" 1 mock

x 2. degrade
x 3. refuse
( 4. glorify

Question ID : 1499861452
Status : Not Answered
Chosen Option : --

Q.8 Choose the correct form of indirect speech for the following-
The man said, "This place is very beautiful.’

Ans “ 1. The man exclaimed that that place was very beautiful.
X 2. The man exclaimed what a beautiful place.
x 3. The man exclaimed that place was very beautifulli

x 4. The man said that place was very beautiful.

Question ID : 1499861450
Status : Not Answered
Chosen Option : --

Q.9 Recognize the type of adverb of the bracketed word.
He (usually) speaks rude to me.

Ans “ 1. Adverb of number or frequency,
X 2. Adverb of degree or quantity.
x 3. Adverb of Time

x 4. Adverb of manner

Question ID : 1499861447
Status : Not Answered
Chosen Option : --
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